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Question Id : 92090628947 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

didhdd Bdd A DI Uh USid 8l 7ol o, diddd Hod: Iifed siiaaad] &t T Adfd
YT A & Qe SFydl & SfeH-UaH &1 /M g | 375 I8 Maes ¢ b 3u |1 &
Ul $sT d T &1 HId Bl

4 UpR WaFal W Wt &1 S5 3y 8 Gddl g7 THARTHA &1 WieiAan, Sfiied aun
RIS FRe & Wieliad & ordf 3§ Irag 8 S5 WaAar & [dly &1 38 ISR Jufl &
HIUPR, SHfaHaeH & N e SiWR d I W@ & AR ey IR & T
@1 o ¥, & ofd 7 off wadFdr R g smufd 981 81 wdbd | df fth Is &1 wfdd & wem
Ud UHIGEITel YT i Wi Sadadl &1 9 UGH Bl §Ie?

SIfd-0UT & UIvdh, Sita-, ARIRG-GR&m a1 Uil & $HifeR &1 Wdadl &1 i WieR
R T, UG IS & HeH Ud THIGRITel YR & Wdadl 44 & fol Sied] aaR et g1, Fifes
39 USHR & WaAdl &1 3 g (U1 G I & WAl [l &l Tal g, af Sadl 3
JU AT # ShgH TG g1, Fifh AT Hdd B! ULl &I 8 el Pel ol
&l rgar ¥ g fRufa of aftifaa § oY oo aafdadl &1 g drll & gr1 [ifva
HdER Ud il ®1 Ula &3 & [l faa2 g1 Usdl &1 g8 fRUfd S Riediaar 9 g9
W urg o gebdll §1 Ierewuny, Sifd vy @1 ae U8 & g1 Wvd B, oel $@ ari @1 o
T & [d%g U SO USd 8

Sub questions

Question Number : 1 Question Id : 92090628948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TMHARTH e H I 9l |4 87

(1) SieA A 2 fawigf
(3) gu 4) ddafa
Options :

920906114401. 1
920906114402. 2
920906114403. 3
920906114404. 4



Question Number : 2 Question Id : 92090628949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“SIfd-uYT ®1 TRe T T EH YHa €, S8l DO il B AU 301 b favg U9 U
Usd & ug e sy ¥2

(1) wd g 2) el oit
(3) Bl HidsH (4) SHifdd od
Options :

920906114405. 1
920906114406. 2
920906114407. 3
920906114408. 4

Question Number : 3 Question Id : 92090628950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ¥ SaFar &1 & ardd g2

(1)  Ued &t Waadl (2) faare &1 w@daa
(3) IUg S WaAdl (4) =99 B WaAdl
Options :

920906114409. 1
920906114410. 2
920906114411. 3
920906114412. 4

Question Number : 4 Question Id : 92090628951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR I & TR “didbad H fooeeh Uid $ig1 3R WM T UId g1 91fgy”?

(1) <& ufd (2) AN & Ui
3) ularR & ufd @) Iyl & ufd
Options :

920906114413. 1



920906114414. 2
920906114415. 3
920906114416. 4

Question Number : 5 Question Id : 92090628952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URd TR F SUR FufeifEd wsdi 1 uEl v # srafiyd 1 |
A cTEdl

B. Iy

C. HuRd

D. %al

19 few U fasheul # ¥ |l IR &1 Ig Sifof ;

(1 ABCD
(2) ABDC
(3y D,BCA
(4) D,CB A

Options :

920906114417. 1
920906114418. 2
920906114419. 3
920906114420. 4

Question Id : 92090628947 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



didda Pad IR DI TP Ugld 81 781 8, Abdd Had: WHfed sitaaaaf &t va Jfd
YT HIS & GiEferd SFMdl & SMEH-UaH &1 M g | 378 I8 SMa% ¢ b 30 |1 &
Ul $sT 9 FHH &1 4G Bl

U UPR Wagal W W 1 F13 Smuly 8 Gddl 87 THANHA &1 WieiHal, Ssiigq aun
RIS YRen B w@redi=ar & srf 7 wrae € @1 WdAar @ fady $R1 34 yeR duli &
HIUPR, SifdHaeF & N e iR d I W@ & AR ey IR & T
@ o 9, & ord 7 off wadaar R g smuft 981 81 wadbdi | df fth os &1 wfed & wem
Ud UHIGEITel YT i Wi Sadadl &1 A UGH Bl §Ie?

SIfd-UYT & U, Sita, MRIRG-YRAT U1 Jufd & Hf¥aER ST Wdadl & d WieR
HR O, T A & HeH U THITEITCH UaHT &1 Waadl o & [oE Seal dOR el g1, Fife
39 USR & WaAdl &1 3 ST U1 Aaard I & Waadl [l &l Tal o, af Sadl 3
IY Gar # ShsH I@H1 g1, Hifds SRIdl’ dd AT GALAT B g1 8l Pel ol
wdbdl| eear | ag fufa o afiifa & o oo aiferdl &) g @l & g Meffa
HdER Ud il PI UTa &3 & [od faa2 g1 USdl &1 g8 FRUfd S Wi 9 g9
W urg S Hebcll B 1 Iereond, Sifd vy Bt ave Q& aif g Wvd B, ol oo @Rl @1 Sra
1 & [d%g U9 U USd 8

Sub questions

Question Number : 1 Question Id : 92090628948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THARTHA e H I It 94 87

(1) SR 2 fawiaf
(3) gu A 4) ddaf
Options :

920906114401. 1
920906114402. 2
920906114403. 3
920906114404. 4

Question Number : 2 Question Id : 92090628949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“SIfd-uYT ®1 TRe T T EH YHa €, S8l DO il B AU 301 b favg U9 U
Usd ¢ g fue #yA 82

(1) wd g 2) el oit
(3) Bl HidsH (4) SHifdd od
Options :

920906114405. 1
920906114406. 2
920906114407. 3
920906114408. 4

Question Number : 3 Question Id : 92090628950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ¥ SaFar &1 & ardd g2

(1)  Ued &t Waadl (2) faare &1 w@daa
(3) HGH™ &I WdAdl (4) TG DI WA
Options :

920906114409. 1
920906114410. 2
920906114411. 3
920906114412. 4

Question Number : 4 Question Id : 92090628951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR I & TR “didbad H fooeeh Uid $ig1 3R WM T UId g1 91fgy”?

(1) <& ufd (2) AN & Ui
3) ularR & ufd @) Iyl & ufd
Options :

920906114413. 1
920906114414. 2
920906114415. 3
920906114416. 4



Question Number : 5 Question Id : 92090628952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TN & SR Fafeiad sl &1 el s | safua & |
A, ol¥dl
B. SIfauul
C. ¥Hui
D. Hal
-9 g e fasedi 7 ¥ Tl TR &1 994 Sifoi :
() ABCD
2 ABDC
(3) D,BCA
(4) D,CB A
Options :
920906114417. 1
920906114418. 2

920906114419. 3
920906114420. 4

Sub-Section Number : 2
Sub-Section Id : 920906926
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090628953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS T HId1-fodr 31 | YEifdd Wsg § H1H-91 0™ 82
(1)  3eadiyrd JH™

(2) g= dHY

(3) dIeY JHNY

(4) TaTomm



Options :

920906114421. 1
920906114422. 2
920906114423. 3
920906114424. 4

Question Number : 6 Question Id : 92090628953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T Y AIII-Udn 3T | Taifeed U # & 19-91 THY 87
(1) 3y Y

(2) &= HHY

(3) OYSY AN
4) fEraHs

Options :

920906114421. 1
920906114422. 2
920906114423. 3
920906114424. 4

Question Number : 7 Question Id : 92090628954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T FS A A 81’ P o U ez B -

(1) 3 (2) S
(3) S (4) 3RY
Options :

920906114425. 1
920906114426. 2
920906114427.3
920906114428. 4

Question Number : 7 Question Id : 92090628954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

T $S 9 Sl gl & [olU U Ued & —

(1) SR (2) S
(3) O (4) 3RY
Options :

920906114425. 1
920906114426. 2
920906114427. 3
920906114428. 4

Question Number : 8 Question Id : 92090628955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofafaa & 9 dam s 98 8

(m R 2) T
(3) YR 4) 3=
Options :

920906114429. 1
920906114430. 2
920906114431. 3
920906114432. 4

Question Number : 8 Question Id : 92090628955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafaa # ¥ dam s 98 8

(1 R 2) T
(3) YR 4) s
Options :

920906114429. 1
920906114430. 2
920906114431. 3
920906114432. 4



Question Number : 9 Question Id : 92090628956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Praffad § fadw fAdwor &1 g g g -

(1) Pl 9S13I8 @I 8l (2) HHN d aSH Bl
(3) BTG e B 4) Hiar gt el g
Options :

920906114433. 1
920906114434. 2
920906114435. 3
920906114436. 4

Question Number : 9 Question Id : 92090628956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafefeaa # g fadeor &1 3eEIm g & -

(1) I HIS1aIS W (2) WA Had dedl gl
(3) A Ty dish B (@) tar geiia el B
Options :

920906114433. 1
920906114434. 2
920906114435. 3
920906114436. 4

Question Number : 10 Question Id : 92090628957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrocfafed 7 wbHe fohar $133E0 76l § -

(1) =M G Uedl g (2) IHEHA B
3) fauerd | & gew B 4) faga urft da 81



Options :

920906114437. 1
920906114438. 2
920906114439. 3
920906114440. 4

Question Number : 10 Question Id : 92090628957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Foafaiad #§ gods far $133eIu T8 & -

(1) M I&S Ugdl g (2) THEHEA B
3) fauerd @ & gew A 81 (4) faga ot diar 8|
Options :

920906114437. 1
920906114438. 2
920906114439. 3
920906114440. 4

Question Number : 11 Question Id : 92090628958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l FEsff & OF SR 3d =R H 3: 2 & U ¢l 931 B &1 BT T I U
1 8?

(1) 253 2 15
(3) T 4 2:1
Options :

920906114441. 1
920906114442. 2
920906114443. 3
920906114444. 4

Question Number : 11 Question Id : 92090628958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&l FEsff & OF SR 3d =R H 3: 2 & U ¢l 931 B &1 BT T I U
R 82

(1) 253 2 15
(3) T 4 2:1
Options :

920906114441. 1
920906114442. 2
920906114443. 3
920906114444. 4

Question Number : 12 Question Id : 92090628959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I3 UM Thafs o1e W 2 99 SR 3 94 F d1g HHY: T 1,440 TUT 2 1,728 B Sl g1 =T
&1 dIfties &R FId BiferU|

(1) 5% (2) 10%
(3) 12% (4) 20%
Options :

920906114445. 1
920906114446. 2
920906114447. 3
920906114448. 4

Question Number : 12 Question Id : 92090628959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®13 WY Fehgfs o6l W 2 a9 3R 3 99 & 15 HH: T 1,440 YT T 1,728 B Gl § | &Tel
&1 a1fifes &R JId BT

(1) 5% (2) 10%
(3) 12% 4) 20%
Options :

920906114445. 1
920906114446. 2



920906114447. 3
920906114448. 4

Question Number : 13 Question Id : 92090628960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®Ird 40 fobril/d &1 71fd § 2 92 15 e g Sal g1 331 gl & 2 e T a9 A & o 39
3O 71fd o 3@ gl

(1) 48 feHid (2) 45 feHld
(3) 44 fHHld (4) 485 fhHl/d
Options :

920906114449. 1
920906114450. 2
920906114451. 3
920906114452. 4

Question Number : 13 Question Id : 92090628960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 40 f/d B A 2 6 15 P TR HRAT I S g Bl 2 @ TR HA & fee 39
(T TIiY R T gl

(1) 48 feuid (2) 45 forid
(3) 44 fedyd (4) 485 fhHl/H
Options :

920906114449. 1
920906114450. 2
920906114451. 3
920906114452. 4

Question Number : 14 Question Id : 92090628961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 3R B 9 BHI: T 48,000 3R 7 60,000 & F9w & Ty &R IR fHan af & s |
U S FUH B B A Y T 10,000 HiEP el | F& @y I1d Bifow|

(1) % 98,600 (2) ¥95,500
(3) % 94,000 (4) 90,000
Options :

920906114453. 1
920906114454. 2
920906114455. 3
920906114456. 4

Question Number : 14 Question Id : 92090628961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 3R B 9 ®HI: % 48,000 3R 60,000 & F99 & WY AR JR™ &g i & < &
AU S ETH B BT AT 10,000 AP et | o @14 Fd Bifor

(1) ¥ 98,600 (2) ¥95,500
(3) 794,000 (4) T 90,000
Options :

920906114453. 1
920906114454. 2
920906114455. 3
920906114456. 4

Question Number : 15 Question Id : 92090628962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@: g9 qd AT D1 S 39 THAE G &1 g &t 7 71 A /@ W T a¥ uyT 39S Ay
Y GH Bl 31 BT 3 TA1 gRT | IHD! Gl DI qaHH R J1d e

(1) 1099 2 1184
3 129 4) 13a
Options :

920906114457. 1
920906114458. 2
920906114459. 3



920906114460. 4

Question Number : 15 Question Id : 92090628962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@: g9 qd AT D1 S 39 THAE G &1 g &t 7 71 A /@ W T a¥ uyT 39S Ay
Y GH Bl 31 BT 3 TA1 gRT | IHD! Gl DI qaHH R J1d e

1) 1099 @ 1a9
@) 1299 @ 1394
Options :

920906114457. 1
920906114458. 2
920906114459. 3
920906114460. 4

Question Number : 16 Question Id : 92090628963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 9IR 4 99 & ol D1 98 THY J1d B forg R B T g3 R 49 &1 I3 ifdaamg gidi 8

) 33&3}‘{15%&:{6 @) 3@?:13?{11%&?1?
3) 4W15%ﬁ'~1€ @) 4@@4%&%
Options :

920906114461. 1
920906114462. 2
920906114463. 3
920906114464. 4

Question Number : 16 Question Id : 92090628963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 3R 4 99l & dld 1 98 THY F1d P2 o R e $1 g3 ok €92 o1 2 ifdaamg= gidi 8

() 3W15%ﬁ:ﬁ€ @) HWH%W
3) 4W16%ﬁ?’d @) 4aaaﬂ4lléiﬁ=ﬁ
Options :

920906114461. 1
920906114462. 2
920906114463. 3
920906114464. 4

Question Number : 17 Question Id : 92090628964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fAafefaa e & g ug J1d S|

2,1,2,4456,72588 1011, ?

(1) 11 2y 12
(3) 10 4 8
Options :

920906114465. 1
920906114466. 2
920906114467. 3
920906114468. 4

Question Number : 17 Question Id : 92090628964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fAafefea g & g ug F1d S|

2,1,2,44,56,7,8,8 10,11, ?

(N ) 12
(3) 10 4 8
Options :

920906114465. 1



920906114466. 2
920906114467. 3
920906114468. 4

Question Number : 18 Question Id : 92090628965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GIR U Hefl 7 Y F 189 WH W 8| ITH1 3= I T & e

YT | . BeTH 47 [FmA €
FYF | P AR P F10d WA WRE, AT 38 T AW G
fFafofaa & ¥ 98 3 &1 994 Sifeu|

(1)  ad &Y | T 331 T/ Siiest Uy &1 3R &4 F foe gaie B

(2)  ad HYF | T HYA 11 H &g 1 SHiEST Uy 1 I 3 & o i 2

(3) SIS | R Y 11 T 3T TN 3ifre Ueh Ty Uy &1 IR & & fofe v e €|
(4)  Had HyA 1| W a1 T i ST UY H1 IR o & ol guid g

Options :

920906114469. 1
920906114470. 2
920906114471. 3
920906114472. 4

Question Number : 18 Question Id : 92090628965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT Ueh el H 2 T 189 RIM WX 3| IUHT 3 ° 1 R I
®Y | HenH 47 faif g

HYA Il : o, S IW e F 10d AW R, <1V 38 T AW I
fafefed 7 9 ugl 3w &1 99 S|

(1)  ad &Y | 7 331 TR siidst Uy &1 3R e & o gaie B

(2)  Had DY | YT HYA || A T ST Uy H1 IR a4 & fore uaiw B

(3) SFI DU | R Y 1| § AU U 3ffds U 1Y Uy &1 IR 31 & o uaied &1 3
(4)  Had HYA 1 A T T SiES Uy H1 3R &4 & fa ggie g1

Options :

920906114469. 1
920906114470. 2
920906114471. 3
920906114472. 4

Question Number : 19 Question Id : 92090628966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UggH & & o urexlf e & fagvar @ wier oian & O Fufafea 7 € @9 w1 T

e
Ol v
> 1O
(1) @ (2) @
® @
(3) @ (4) @
@ ®

920906114473. 1
920906114474. 2



920906114475. 3
920906114476. 4

Question Number : 19 Question Id : 92090628966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UgdH & [ oe uReHll e &I fogiar § die1 o € o FAufafaa & 9 &9 o1 ted

Py
Olv
> 1O
(1) @ 7 @
® S,
(3) @ (4) @
9, ®

920906114473. 1
920906114474. 2
920906114475. 3
920906114476. 4

Question Number : 20 Question Id : 92090628967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui gl B difled &R FA & fau 361 FHdEe adeor swmn @ Rad §
HIdIHS! A a6 9331 A 9= B & a1 § $H §fGHH g1 9l g1 ¢, g9 D &1 gal
o 30 §fSHH 8| 91 B 9= C & ol H $H §fGHH 8| =1 A 9 E P gaql J Sfid
fEHH g1 D11 1 = FesfiE gfenm 82

M A 2) B
@ D 4 C



Options :

920906114477. 1
920906114478. 2
920906114479. 3
920906114480. 4

Question Number : 20 Question Id : 92090628967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U" §= @1 difed WR aF4 & fau 3@ BHlagiae ol e i Rald o
HIdHIAS! A i & 9531 A 9= B & a1 8§ $H §fGHH g1 9l 9= ¢, g D &1 gaHl
¥ %0 §fSHH 8| 91 B 9= C & a1 H $H §fGHH 8| =1 A 9= E P gaq1 J Sfie
UM g1 D1 1 =1 HaHiF SHME 82

() A ) B
(3 D 4) C
Options :

920906114477. 1
920906114478. 2
920906114479. 3
920906114480. 4

Question Number : 21 Question Id : 92090628968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & 91 G 1| BT e Sifere

-1 eyl fRaw) -1 (faf)
(A) HRd IFF feag ) 53

AP a9 feaw () 15 SHad
€ fay yaiaro iGaw () 28 BIE

it 4 feaw (V) 215

I feu Tu fawedl # | el IR &1 99 S

(1) (A)-(, B)-(lIL), (O)-(V), (D)-(1)

(2) (A=, B)-(1), (C)-(1), (D)-(IV)

(3)  (A)-(m), (B)-(In), (O)-(1), (D)-(IV)

4)  (A)-(, B)-(1), (C)-(1), (D)-(IV)
Options :

920906114481. 1
920906114482. 2
920906114483. 3
920906114484. 4

Question Number : 21 Question Id : 92090628968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & 91 G 1| BT e Sifere

-1 eyl fRaw) gl -1 fafa)
(A)  HRdE IS Gaw ) 53
(8) PN fa9H feaw () 15 SRt
€ fay yaiawu fieag () 28 HIEd
(D) S=RIPE grm e (v) 215d

I feu Tu fawedl # | el IR &1 99 S

(1) (A)-(n. B)-(I), (C)-(IV). (D)-(1)
(2) (A, (B)-(l1), (C)-(1). (D)-(IV)
(3) (A=), (B)-(), (C)-(1), (D)-(IV)
4)  (A)-(, (B)-(I), (©)-(). (D)-(IV)

Options :

920906114481. 1
920906114482. 2
920906114483. 3
920906114484. 4

Question Number : 22 Question Id : 92090628969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jadiery 9 IFERTAY & A1 b9 AMEA HTd H DI?

(1) dlaY (2) S{hal
(3) SSE (4) WEIGIRTE FAHY
Options :

920906114485. 1
920906114486. 2
920906114487. 3
920906114488. 4

Question Number : 22 Question Id : 92090628969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Jadier 3 THARTAFY &t 391 &9 A= &1 H o2

(1) CIGE (2) 3hdl
(3) ST (4) WEIERIIE W
Options :

920906114485. 1
920906114486. 2
920906114487. 3
920906114488. 4

Question Number : 23 Question Id : 92090628970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIasyRumUE:
FYF | : TdIHI0y FEry it AEn # U 8ld & IR afe 3961 raite Iud gidl &
o1 Fiftra gramaly & e 9Ad 81 9d 8

HU || : AJIHI0NG A FHiga, Yo 3 gl
IR HYA & 3fidld |, 1 S0 770 [dwed! 1 | el I &1 994 $ifelg

(1) YIRS ITE

@ ISR IEH A §

(3) Y| A g, AP HUF Il ST §
(4) BYF | 3MFY B, b YA 1 T §

Options :

920906114489. 1
920906114490. 2
920906114491. 3
920906114492. 4

Question Number : 23 Question Id : 92090628970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FyERuue:

HYF | AdiB0ig HIeE W AE # IudsH 8id § IR 4fe 3991 it IUUnT gidl &
ol Wit gramaft & a1g WHd 8 6 B |

B || ; FIBIT GETEF B, YIferH s
IR HYA & 3fdld |, 1 S0 710 [demedl #§ 9 gat I &1 99 $ifelg

(1) FYIARNSATTIE

@  HYI SR EH 3R §

(3) Y| TA g, Al HYT 1| 3T &
(4) ®YF| AUd g, Afhd HUA 1| T §

Options :

920906114489. 1
920906114490. 2
920906114491. 3
920906114492. 4

Question Number : 24 Question Id : 92090628971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd & Gy § fFa- sreg g ?

(1) 395 (2) 39
(3) 398 (4) 399
Options :

920906114493. 1
920906114494. 2
920906114495. 3
920906114496. 4

Question Number : 24 Question Id : 92090628971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRd & Gy J fFa s g ?

(1) 395 (2) 396
(3) 398 4) 399
Options :

920906114493. 1
920906114494. 2
920906114495. 3
920906114496. 4

Question Number : 25 Question Id : 92090628972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd 7 Saa & way | Fafafad § 3 o9 3 Sy 98l 87
A. U8 & Wiaiid X Bl

B. UgUGY I

C. Ug Uod WHR GRI UdhA g il g1

D. UE UH GHFUIIH H g
i fdu 77U fasheul 7 € Hel IR &1 98- Sifoie

(1) ad A
(2) dd A3IRB
(3) &ad A, B3RC

(4) ®dd B, C 3R D

Options :

920906114497. 1
920906114498. 2
920906114499. 3
920906114500. 4

Question Number : 25 Question Id : 92090628972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRd 7 3maaR & way § Fgfafad 7 3 o9 3 sy 98 82
A.  Ug UdH WiaLiid 2 g1

B. g U4 I3l

C. Ug I WHR gRI UHA fba1 Srar g

D. UE UH FHHUIIH H gl
A fdu 7Tu faseul # € Hgt IR &1 98- Difeie ;

(1) Had A
(2) Pdd A3REB
(3) ®ad A, B3RC

(4) ®dd B, C 3R D

Options :

920906114497. 1
920906114498. 2
920906114499. 3
920906114500. 4

Part B: Dev and Labour Studies

Section Id : 920906574
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906927
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090628973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An estimate of the distribution of world manufacturing output by P. Bairoch shows
that India's share of it stood at 19.7% in the year 1800 but then declined steadily
and in 1913 it was:

1. 8.6%

| ]

. 10%
3.1.4%

4. 4%
Options :
920906114501. 1
920906114502. 2
920906114503. 3
920906114504. 4

Question Number : 26 Question Id : 92090628973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

bt aiE gr1 fay fafaio Saea & famu &1 siiea guiar g & saat
HRd BT foear s 1800 H 19.7% TR feh a1 U1 @fs— 39& 918 ¥ 398 AR
fiRIae ams. ot 1013 T <t .

1. 8.6%

[ ]

. 10%
3.1.4%

4. 4%
Options :
920906114501. 1
920906114502. 2
920906114503. 3
920906114504. 4

Question Number : 27 Question Id : 92090628974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I Policy LIST II Year
A [National Education Policy I 2020
B. |[The Competition Act II. 2002
C. |Bharat Bond Exachage Traded Fund III. |2019
D. [Raght of children to free and compulsory Education Acq IV. 2009

Choose the correct answer from the options given below:
1. A-L. B-II. C-IIL. D-IV
2. A-IL. B-IIL. C-IV. D-I
3. A-I. B-IL. C-IV. D-III

4. A-II. B-1. C-III. D-IV
Options :
920906114505. 1
920906114506. 2
920906114507. 3
920906114508. 4

Question Number : 27 Question Id : 92090628974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore
T 1 GGl
A R fRram ifa L [2020
B. [wigegsn sffdmg L. [2002
C. YR s=97 fafag «aaR [fY 11 [2019
D. [[R:¥cm R HHTR dTc & &1 HHeR sfa=g| v [2009
FafeRad [deedi ©§ U Tt 3R &1 99 ST :

1. A-I. B-II. C-III. D-IV

2. A-II. B-III. C-IV. D-I

cA-LL B-I1. C-IV. D-III

L]

4. A-II. B-1. C-III. D-IV
Options :
920906114505. 1



920906114506. 2
920906114507. 3
920906114508. 4

Question Number : 28 Question Id : 92090628975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The concept of "political opportunity structure” does not emphasises
the external factors that influence the success or failures of social movements

Statement IT: Family. education. media and peer groups are important agents of
political socialization

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 15 true but Statement II 1s false

4. Statement I 1s false but Statement IT 1s true
Options :
920906114509. 1
920906114510. 2
920906114511. 3
920906114512. 4

Question Number : 28 Question Id : 92090628975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CEACRIC LRI

DY I: A1 AT YT BT HAURUN &gl PRBI U & 7ol adi & &l
o Sigia-! ®f THadl a1 Hgwadl &f THIfad $dl o

DY I1: URAR. &1, TIfSaT SR TUamg IS-de QHETseiieRo & ggaygul

PRPEId 6

SQRIFI PY & 3|l U, 14 U T fepedl ¥ ¥ 989 Suged IR &l 98-
DI

1. YT 1 AR 11 SH1 Tl &

2. YT AR I HI Tad &
3. HYT1 el 8. Al HYT 11 7T9d ©

4. PYF17TAd. AP HYT 11 Tol o
Options :
920906114509. 1
920906114510. 2
920906114511. 3
920906114512. 4

Question Number : 29 Question Id : 92090628976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
There are four phases of a business cycle. Identify the correct sequence of the
occurrence of these phases:

1. Recovery. Recession, Expansion, Depression

| o]

. Recovery. Expansion. Depression, Recession
3. Expansion. Recession, Depression. Recovery

4. Depression. Expansion, Recession, Recovery
Options :
920906114513. 1
920906114514. 2
920906114515. 3
920906114516. 4



Question Number : 29 Question Id : 92090628976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR 9eh & IR aRUIBId & | 57 R0 &I UM D1 Tel 4aal &1 UgaH
PHIoTT :

2. gt fowdror, #idl, siawa
3. faxdron. sfawA, |l gt
4. Td], f[OEIRU, SfaHe-, a9

Options :

920906114513. 1
920906114514. 2
920906114515. 3
920906114516. 4

Question Number : 30 Question Id : 92090628977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who among the following decided to renounce British 'Knighthood protesting
Jalllanwala Bagh Massacre:

1. Jamshed)1 Tata
2. Rabindranath Tagore

3. Mahatma Gandhi

4. Jagatjit Singh Bahadur
Options :
920906114517. 1
920906114518. 2
920906114519. 3
920906114520. 4

Question Number : 30 Question Id : 92090628977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=44 ¥ {9 SIferamardr 9N AX8eR @ [a1Y H HI5e ©f Jurier &1 URanT
fopar -

1. SHRIE Sl 2Te]

2. TEl=AY SR

3. HETT il

4. SFTSIId ¥ 98153

Options :

920906114517. 1
920906114518. 2
920906114519. 3
920906114520. 4

Question Number : 31 Question Id : 92090628978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: Wage differential acts as signal to guide potential workers i their
demand for traming and retaining

Reason R: People demand education partly for the effect 1t will have on their
future earning potential

In the light of the above statements. choose the correct answer from the options
given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s true but R 1s false

4. A 1s true but R 1s true
Options :
920906114521. 1
920906114522. 2



920906114523. 3
920906114524. 4

Question Number : 31 Question Id : 92090628978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 Y U §: U SHUDYT (Assertion A) D U T [7REd § Il IRT ITD
Pl (Reason R) & U H;

B YF A: Tolas] [ Hel 1! S URIEmT SR FR=<Rdl & g
arfeffa o3 ¥ 9%d ST oM o 9Hdl §

PHRUIR: G 2781 Bt 14 59 FRo1 9 +ft Hd © Fife 398 yidw § 3!
3G AT yYfad eidl 8

SRIFd DY & 3ielie 1, 44U fabeul I 9 gad Jugei IR &l 99

1. AR RGHI Tl § AR R. A DI Jol AR &
A JRREH T8 8. AP R. AT Ugl AR TRl ©
ATEIgAfBAR TE el &

4, A6l & AP R Tl ©
Options :
920906114521. 1
920906114522. 2
920906114523. 3
920906114524. 4

|

a2

Question Number : 32 Question Id : 92090628979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: When income effect dominates the substitution effect. then
mndividual labour supply curve becomes backward bending

Statement II: Aggregated to the industry level. the labour supply is not expected to
be backward bending even when income effect dominates the substitution effect

In the light of the above statements. choose the correct answer from the options
given below:

1. Both Statement [ and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1 true but Statement II 1s false

4. Statement I 1s false but Statement II 1s true
Options :
920906114525. 1
920906114526. 2
920906114527. 3
920906114528. 4

Question Number : 32 Question Id : 92090628979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CEACRIC LRI

U I T 3T THTT RIFTIRT F47a O §1d1 §iT € a oafd i sgfdt
dsh o1 Feb1d T Bl oIl §

DY 131 TR R GG & d15, 48 MU o g5 Usl Tal B ol (o
YD1 g1 TLH! g1, 39 f&ufd § vl §ig o1 gHTa RIFR Y419 R 8141 8l

LY

SQRIFI PY D 3|l U, 4 U T fepedl T ¥ 989 Juged IR &l 98-
FIfoIT:

1. PYT1 AR 11 gH T8l §
HYF 1R 11 SH Tad §
DY 1 T8 B, Aftp Y 11 7Tad ©

4. BYF 170, AfpT HYT 1 T3 &
Options :
920906114525. 1
920906114526. 2
920906114527.3
920906114528. 4

| ]

L)

Question Number : 33 Question Id : 92090628980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
To calculate Consumer Price Index (CPI) which of the following price indices 1s
used in India.

1. Lagpeyers price Index
2. Paasche Price Index
3. Fischer price Index

4. Simple Price Index
Options :
920906114529. 1
920906114530. 2
920906114531.3
920906114532. 4



Question Number : 33 Question Id : 92090628980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SO & 1Hd adid (3 UT 3M15) & GRS & (U 598 § JIHid &l
SN YRT H far ST &

1. AR BiHd Yadbis
2. Ul pIHd YIhidp

3. [PRR Bind Yaois
4. WA PIAd YIbid

Options :

920906114529. 1
920906114530. 2
920906114531. 3
920906114532. 4

Question Number : 34 Question Id : 92090628981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The first strike by the Great Indian Peninsular Railways took place in
1899

Statement IT: Bharat shramjeevi news paper was started in 1870

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement [ 15 correct but Statement I incorrect

4. Statement I 1s incorrect but Statement II correct
Options :
920906114533. 1
920906114534. 2



920906114535. 3
920906114536. 4

Question Number : 34 Question Id : 92090628981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEEAEAIEA RIS
BYA I U 55T UH-IeR Y0de &1 usdl goard 1899 1 g ol

DY II: HRd YHuiidl SHER U ST HRY 1870 T g3 4T

e Py P el H, 1 ST 7T ferdbedi & § 969 S9gdd 3R &I 98-
DIfIT:

1. PYTI AR IS Gel &
2. BY1 AR 11 S Tad &
3. HYF 1 Yl 6. AT Y 11 76d &

4. BYF 1 7TAd. AfbT HYT 11 T3 &
Options :
920906114533. 1
920906114534. 2
920906114535. 3
920906114536. 4

Question Number : 35 Question Id : 92090628982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which are causes of poverty?

A. Unemployment and Low wages

B. Poor Healtheare and Illness

C. High literacy rate and Low population growth
D. High public debt and poor infrastructure

Choose the appropriate answer from the options given below:
1. A. B only
2. A.B.D only
3. A.B. C only

4.B.C.D only
Options :
920906114537. 1
920906114538. 2
920906114539. 3
920906114540. 4

Question Number : 35 Question Id : 92090628982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=78 O 6 1 T FRUT 82

A, SRISHTRT 3R P aeigdl R

B. THGIR Wy HaRIT 3R SHRT

C. =g HIERI &R 3R Y o e gig
D. 3= A BT AR FY e =1

=i fed e fased! o Taliie Sugead SR &1 90 B |
1. Had A. B
2. PAAA.B.D
3.PAUA. B, C
4.®HAAB.C.D
Options :

920906114537. 1
920906114538. 2




920906114539. 3
920906114540. 4

Question Number : 36 Question Id : 92090628983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A registered worker under MGNREGA i1s entitled to a daily unemployment
allowance 1if the worker is not provided employment within

1. 15 days

| ]

. 30 days
3. 10 days

4. 45 days
Options :
920906114541. 1
920906114542. 2
920906114543. 3
920906114544. 4

Question Number : 36 Question Id : 92090628983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AN & Sdid Usiigd BIHP af-eb SRIGRTRI H1 BT HaR idl ¢ a4 34
ISR ef e g

1.15 fgaf |
30 feArd
3. 10 feAtH
4. 45 faAtd

Options :

920906114541. 1
920906114542. 2
920906114543. 3
920906114544. 4

|

Question Number : 37 Question Id : 92090628984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Books) LIST II {Authors)
Hindu kinship I |K. P Jayaswal
State and Government in Ancient Indig| II. |D. R. Bhandarkai
Some aspects of ancient Hindu Polity | IIL. |Dr. K. M kapadia
Hindu Polity IV. |Dr. A S Altekar

o|afw]>

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. AL, B-IV. C-I1. D-I
3. A-IL B-III. C-IV. D-I

4. A-I. B-II. C-IV, D-III
Options :
920906114545. 1
920906114546. 2
920906114547. 3
920906114548. 4

Question Number : 37 Question Id : 92090628984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 1 1 gt 11 1 e ifore

1 T I
A [iBg o L [ Ul SrEard
B. [&2¢ U 7+t 24 wAde 2faan 1. [31 3. YUsR®H?
C. [59 ey A% TARge feg ullcel | 111 [S1. & vq. Sursy]
D. [i&g Uil IV [S1. U U9, 3y
Fafciad [ddpedl § ¥ 98! 3R &l 99+ Pl :

1. A-I. B-II. C-IIL. D-IV

2. A-IIL B-IV, C-IIL. D-I

A-IL B-IIL C-IV. D-I

L]

4. A-1. B-11. C-IV, D-III



Options :

920906114545. 1
920906114546. 2
920906114547. 3
920906114548. 4

Question Number : 38 Question Id : 92090628985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is Hawthrone effect?

A. Previleging hetro sexual relations

B. A change in subject’s behaviour caused by the awareness of being studied
C. Cultural patterns that distinguish asociety elite

D. Fostering a more democratic organisational atmosphere

E. Formal organisation that direct the political life of a society

Choose the correct answer from the options given below:
l.Aand B
2. Bonly
3. Cand D only

4. E and B only
Options :
920906114549. 1
920906114550. 2
920906114551. 3
920906114552. 4

Question Number : 38 Question Id : 92090628985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SI3U UHTd 182

A. fownfeme et o fagwifieRr 1

B. fav9 & cgaeR ¥ ggaa ol f 309 ey fpu o & FRUTgId &
C. Apiae Jfal ol T g SYSd & fafky g=rdl 8

D. T% AP AP dl-ae TR ardiasul &f Hiedifed $3al &

E. U= TR0 o FH16 & o1 siad & frey i &

- fed e fas el § aiie Iugead S) &1 90 B
1.A3RB

. hadd

. ¥ad C AR D
4. Had E 3R B

Options :

920906114549, 1

920906114550. 2

920906114551. 3
920906114552. 4

| ]

L}

Question Number : 39 Question Id : 92090628986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Association of South East Asian Nations (ASEAN) was formed

1. 1965

|

. 1966
3. 1967

4. 1968
Options :
920906114553. 1
920906114554. 2
920906114555. 3
920906114556. 4

Question Number : 39 Question Id : 92090628986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

<1801 gd UiRmrs 1Y (SREr) 1 99 HiEd gsn un
1.1965 1

1966 H

[ ]

3.1967H

4, 1968 H
Options :
920906114553. 1
920906114554. 2
920906114555. 3
920906114556. 4

Question Number : 40 Question Id : 92090628987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A Grant of Diwani of Bengal. Bihar and Orissa to the British 1 li784
7 |company i
B. |Tipu Sultan's Commercial Mission to Turkey II. 1763
. |Charter Act abolishes company's monopoly over India's trade to -
. R ITT. |1786
[Britain
. . » : —
D. Pitts India Act reorganises Carnatic Debts at over 20 million v lig13
[pounds

Choose the correct answer from the options given below:
1. A-IV, B-III, C-II. D-I
2. A-TL, B-III. C-IV. D-I
3. A-I. B-II. C-III. D-IV

4. A-III. B-IV. C-1. D-II
Options :
920906114557. 1
920906114558. 2
920906114559. 3
920906114560. 4



Question Number : 40 Question Id : 92090628987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore
T 1 T

A [fgfesr St i §d, fdgR AR I bl dlaHi dl e | 1 [1784

B. [¢10 Ted= &1 b ol SATGHIAD AN 1. [1765

c AT} AT §R1 YR & SAUR IR $U-] & UHIIDHR B S —

o, e 31501 uae 20 fafem U & d-ie® B & fo o —_—

- i ﬁ m% 2 -
FafaRad fae el § I T8l SR &1 99 HifoT -

1. A-IV. B-III. C-II. D-I

| )

- A-IL B-IIIL. C-IV. D-I
3. A-L B-II. C-III. D-IV

4. A-I11. B-IV, C-I, D-II
Options :
920906114557. 1
920906114558. 2
920906114559. 3
920906114560. 4

Question Number : 41 Question Id : 92090628988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: First five year plan was based on the Harrod-Domar Model'

Reason R: The aium of this plan was to start process of balanced development of
cconomy. Agriculture was on top priority in this plan

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
920906114561. 1
920906114562. 2
920906114563. 3
920906114564. 4

Question Number : 41 Question Id : 92090628988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

HTPYA A: TUT UFaNg 1o e1S-5HR Hige W YR 2t
BRUR: 3 A1 D1 A&7 YT & Hdferd [dBr P1 Uishar SIRY &A1
U1 29 GIS1 § DY B gryfiendr i

SIRIdd PYT D 3HTadid H, 114 [SU fabcal § 9 9ad Iugad 9 &l 99

A SRR G UEI § IR R. A D! ol ARAT ©

A SRR S 98T 8. AT R, A B WE o ST &
ATEI g UGTR T Tl ©

4. A GGl T8I & Afb-TR Wel ¢

Options :

920906114561. 1
920906114562. 2
920906114563. 3
920906114564. 4

—

| )

Taa

Question Number : 42 Question Id : 92090628989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Percentage share of the Primary. Secondary and tertiary sectors respectively in
GDP of India during 2020-21.

1.38:1, 232 387
2.202. 259, 539
3.12; 28, 60

4.19.2, 22.3, 594
Options :
920906114565. 1
920906114566. 2
920906114567. 3
920906114568. 4



Question Number : 42 Question Id : 92090628989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2020-21 & GRM YR & G °¥q A1 1 WUHd A1l ud gdiasd
&=t 1 wfererd 3 HHE: &

1.38.1, 232, 387

| R
[ ]
=
[ o]
| ]
I_"
o

R

4.19.2, 22.3, 594
Options :
920906114565. 1
920906114566. 2
920906114567. 3
920906114568. 4

Question Number : 43 Question Id : 92090628990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which charter Act, the first time the Governor-Generals Govt. was known as the
"Govt. of India" and his council as the "Indian Counecil.”

1. Charter Act of 1793

| o]

. Charter Act of 1813
3. Charter Act of 1833

4. Charter Act of 1853
Options :
920906114569. 1
920906114570. 2
920906114571. 3
920906114572. 4

Question Number : 43 Question Id : 92090628990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g T1ex HfIga § Ugd! R 18R O Rd &1 TROR B 'HRd WHR' 3R
3D! UYg B "HRAD RN &gl 7]

1. 1793 BT 91ex Hffgm
. 1813 @1 91ex Hfafgm
3. 1833 BT 9ICR YTy
4. 1853 @I 91ex HfAFgH

Options :

920906114569. 1
920906114570. 2
920906114571. 3
920906114572. 4

| ]

Question Number : 44 Question Id : 92090628991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Distinct from government and business. civil society can be understood as:

1. The "third sector" of society

| )

. The "watch dog" of society

Tl

. The "curator" of society

4. The "guardian" of society
Options :
920906114573. 1
920906114574. 2
920906114575. 3
920906114576. 4

Question Number : 44 Question Id : 92090628991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WHR R AR F eI, TR FHIS bl FHLAT S Pl ¢ -
1. JHS & TR faumT & =9 |
2. U & Ugsl b =0 [
3. 9O & FAldr S = u

4, A & AHHES & &g H
Options :
920906114573. 1
920906114574. 2
920906114575. 3
920906114576. 4

Question Number : 45 Question Id : 92090628992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By the year 2025, as per the National Hydrogen Mission. ethanol blending in

Petrol will be.

1. 25%

| ]

. 10%
3. 8%

4. 15%
Options :
920906114577. 1
920906114578. 2
920906114579. 3
920906114580. 4

Question Number : 45 Question Id : 92090628992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ay 2025 TP, AP ET5gIe M P IR Ugial H gy=Ta o1 JTyu gl
SITQ -

1.25%

| B
[
L=
-\.\?
o

4. 15%
Options :
920906114577. 1
920906114578. 2
920906114579. 3
920906114580. 4

Question Number : 46 Question Id : 92090628993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
India's poverty line calculation of monthly per capita consumption expenditure
method was set up by:

1. Chelliah Committee

| ()

. Suresh Tendulkar Committee

3. Sen Committee

4. RBI
Options :
920906114581. 1
920906114582. 2
920906114583. 3
920906114584. 4

Question Number : 46 Question Id : 92090628993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IRYye Ufd safed SUYNT e WUlTel! ¥ YRd @1 TRIe! 1 ®t 0T BT HRo
oo fosar o1

1. =ifcerar giafd

2. P dgad Fifd
3. ¥ gfEfd
4. YR Rord deb

Options :

920906114581. 1
920906114582. 2
920906114583. 3
920906114584. 4

Question Number : 47 Question Id : 92090628994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following measures of central tendency is the most appropriate to use
if the data relate to rates, proportions and ratios?

1. Arithmetic mean

2. Median

3. Harmonic mean

4. Geometric mean
Options :
920906114585. 1
920906114586. 2
920906114587. 3
920906114588. 4

Question Number : 47 Question Id : 92090628994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g I DI A1 Haid Ygirdl o1 419 a8 3ugad i Afe STel &2, §HHud
3R Sard 9 Haferd gl

1. JHIOR 91¢0

2. HIEY

3. ENHP HIO
4. SIadg \31eg

Options :

920906114585. 1
920906114586. 2
920906114587. 3
920906114588. 4

Question Number : 48 Question Id : 92090628995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following states in descending order in terms of percentage of
population below poverty line:

A. Punjab
B. 1P

C. Orissa
D. Assam

Choose the correct answer from the options given below:

LCAB D

| ]

A B DG
A0 ALE D

4. C.B.D. A
Options :
920906114589. 1
920906114590. 2
920906114591. 3
920906114592. 4

Question Number : 48 Question Id : 92090628995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

RIS G I B S P Hia<d & AR FHifehd Il B a1l PH
o oafyd sifoe

A. G9Tg
B. 3R eyl
C. 3ol
D. 3{9H

=i fU U fameni | ¥ w8t SR dife .
1.C.A,B.D
2.A.B,D.C
3.B,A.C.D

4. C.B.D.A
Options :
920906114589. 1
920906114590. 2
920906114591. 3
920906114592. 4

Question Number : 49 Question Id : 92090628996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Labour market reforms does not aum at:

1. Job security

| )

. Minimum wage

Tl

. Labour market flexibility

4. Employment insurance
Options :
920906114593. 1
920906114594. 2
920906114595. 3
920906114596. 4



Question Number : 49 Question Id : 92090628996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yftieh SToIR YUR &1 e el &
1. ISR GRE&T

 GAaH ddH
. YfHe FoR T

4. ISR &H1
Options :
920906114593. 1
920906114594. 2
920906114595. 3
920906114596. 4

|

Laa

Question Number : 50 Question Id : 92090628997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Health care services| I |Demerit goods
B. |Alcohol II. Merit goods
C. JAir Travel II1. |Social bad
D. [Pollution IV. [Luxury good

Choose the correct answer from the options given below:

1. A-I, B-II. C-III. D-IV

| ]

A-IL B-1 C-IV. D-III
3. A-L. B-II. C-IV, D-III

4. A-11. B-IV. C-III. D-I
Options :
920906114597. 1
920906114598. 2
920906114599. 3
920906114600. 4



Question Number : 50 Question Id : 92090628997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 11 g1 11§ e ifor
T 1 T

A [ anyand| 1 |emmg aeg

B. [ERTd 11 [gi a5

C. [gars amn 1L [T 531 a5
D. [Hgyul IV. [f[aaiaaT a&g

FafaRad faeedl ¥ 9 gl 3R &1 99 i :
1. A-L, B-TI, C-III, D-IV
2. A-IL, B-I, C-IV, D-III
3. A-L B-IL C-IV, D-III

4. A-II. B-I'V. C-III. D-I
Options :
920906114597. 1
920906114598. 2
920906114599. 3
920906114600. 4

Question Number : 51 Question Id : 92090628998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on employment status among the following which category has highest
share in employment in India.

1. Self employment
2. Casgual workers

3. Regular workers

4. Wage workers
Options :
920906114601. 1
920906114602. 2
920906114603. 3



920906114604. 4

Question Number : 51 Question Id : 92090628998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

re-Rufd 9 smeTid ReieRad O 9 YRd © g | foog gofl &1 39
Jaifis 82

1. WHgeH
2. AHHTd BHIR
3. Fafag sER

4. TG PR
Options :
920906114601. 1
920906114602. 2
920906114603. 3
920906114604, 4

Question Number : 52 Question Id : 92090628999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The percentage of population living in rural India at present:

1. 54%

| ]
o)
]
[=]
=)

3. 70%

4. 80%
Options :
920906114605. 1
920906114606. 2
920906114607. 3
920906114608. 4

Question Number : 52 Question Id : 92090628999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I YR & gaaE § Y54 aral oEe] o Uiaeid o

1. 54%

| ]
o
r
(=]
(=1

3. 70%

4. 80%
Options :
920906114605. 1
920906114606. 2
920906114607. 3
920906114608. 4

Question Number : 53 Question Id : 92090629000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The code used under GST for classification of Goods is called.

1. NIC
2. HSN
3. GSTN

4. ITC
Options :
920906114609. 1
920906114610. 2
920906114611. 3
920906114612. 4

Question Number : 53 Question Id : 92090629000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIaEe o 3feiia HId & GiiHRuI & AU SUdIT fdht oI a1l H16 Bl Hed 6 -
1. T 315 4t
2. T TH A
3o EEd T
4. 3T ¢t

Options :

920906114609. 1
920906114610. 2
920906114611. 3
920906114612. 4

Question Number : 54 Question Id : 92090629001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
A JAnnual plans I |22 five vear plan|
B. [[nvestment in heavy industry I1. |Plan Holidavs
C. |Eradication of Poverty IIL 5 five vear plan
D. |Growth with social justice and equality] IV. |9 five vear plan

Choose the correct answer from the options given below:

1. A-I, B-II. C-III. D-IV

[ ]

. A-IL B-I. C-III. D-IV

T

CA-IV, B-IILL C-I1. D-I

4. A-L. B-II. C-IV. D-III
Options :
920906114613. 1
920906114614. 2
920906114615. 3
920906114616. 4

Question Number : 54 Question Id : 92090629001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
T 1 1 gt 11 1 e ifore

I 11
aitieh gl = L ﬁ?ﬂﬂ%m
YR i | Ha= I1. [GiorT SaHIRT
TR 3 111 [O= Gaa¥ig gieil
reIeTd 1 3R GHH & 91y i | [V, 799 Udauig gie

Fafeiad [deedi ©§ 3 It 3R &1 904 S ;

1. A-I. B-II. C-IIL. D-IV

ofa]w]-

2. A-II. B-1. C-1II., D-IV
3. A-IV. B-III. C-IV, D-I

4. A-1. B-II. C-IV. D-III
Options :
920906114613. 1
920906114614. 2
920906114615. 3
920906114616. 4

Question Number : 55 Question Id : 92090629002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: 'Social Protection' 1s a set of benefits to the individuals of household
to reduce multidimensional poverty and deprivation

Statement IT: 'Social interaction' is a system by which society ranks categories of
people in hierarchy

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both Statement [ and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I 15 correct but Statement II incorrect

4. Statement I 1s incorrect but Statement IT correct
Options :
920906114617. 1
920906114618. 2
920906114619. 3
920906114620. 4

Question Number : 55 Question Id : 92090629002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A RIC LRI

DY I ISP YR&T TR Afddl o (4T & ard d oY g, [orad 31
g3l TRidl 9 g1 ®f HY fhar &1 9 |

DY I FHID Y’ U HUIel! & o THTS ATl Bl 3+ Yal{hH
SR JUMATT HAT § |

SQRIFI PY & 3|l U, 14 U T fepedl ¥ ¥ 989 Suged IR &l 98-
FIfoIT:

1. BY1 AR 11 SH1 98T &
2. BYTI AR 11 G TTod &
3. HYT1 el 8. Al HYT 11 7T9d ©

4. PYF17TAd. AP HYT 11 Tol o
Options :
920906114617. 1
920906114618. 2
920906114619. 3
920906114620. 4

Question Number : 56 Question Id : 92090629003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: In a competitive labour market. a minimum wage that raises the
wage rate above 1ts equuilibrium value may lead to an increase in unemployment

Reason R: This 1s partly because firms reduce their demand for labour, but also it
reflects an increase in labour supply

In the light of the above statements. choose the correct answer from the options
given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A is true but R 1s false

4. A 1s true but R 1s true
Options :
920906114621. 1
920906114622. 2
920906114623. 3
920906114624. 4

Question Number : 56 Question Id : 92090629003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

SHUHYH A: U Yiaaiit y0 a6R §, a9 dd- 95! Sda- Ted & da-iaL Dl
S3Tdl & 981 sRISTRI &1 i §¢1 ebdl 1 § |

DRUI R: UG SA¢U F1fds BH 391 98 HiT &1 &9 Bl g HUq 97 Sgfa d
i gieg B Sl § 1

SWRIFd PY & 3Maie U, Hd [4U fdbeul § 9 gad Uy 3R &l 994

1. A 3R R &I 96l € IR R. A B gl AHAT ©

2. A 3R R Gl 9El €. Wihd R, A &1 HEl U 81 ©
3. ANEI AR O TET ©

4. AR TR € Al R WET §

Options :

920906114621. 1
920906114622. 2
920906114623. 3
920906114624. 4

Question Number : 57 Question Id : 92090629004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Covid-19 Pandemic was notified by WHO in:

1. November 2019

|

. March 2020
3. January 2020

4. October 2019
Options :
920906114625. 1
920906114626. 2
920906114627. 3
920906114628. 4

Question Number : 57 Question Id : 92090629004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fa% TR W6+ §RI HIfdS-19 TTHR! $I Ja-1 41 715 o -
1. 7d&R 2019
2. A4 2020
3. SiFaR1 2020

4. 3dcdEe 2019
Options :
920906114625. 1
920906114626. 2
920906114627. 3
920906114628. 4

Question Number : 58 Question Id : 92090629005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
India's economic growth in FY 2022-23 has been principally led by increase in:

A. Domestic tourism
B. MSMEs

C. Private consumption
D. Foreign tourism

E. Capital formation

In the light of the above statements. choose the most appropriate answer from the
options given below

1. A. Cand D only
2. B and C only
3. C and E only

4. A. C and E only
Options :
920906114629. 1
920906114630. 2
920906114631. 3
920906114632. 4



Question Number : 58 Question Id : 92090629005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁin%f%aﬁ 2022-23 H HRd @1 1@ [ R Jgifds S04 us dem =
kg

A. TR ggeT

B.UATHTAS
c. fait Ig4nT

D. fag=h wieq
E. Goil fAafor

-4 fed e fasedi o waliie Sugead SR &1 90 B |
1.Pad A, C HRD

. $HqA B qYUTC

. Pgd C TUTE

| ()

L]

4. HAA A, CAUTE
Options :
920906114629. 1
920906114630. 2
920906114631. 3
920906114632. 4

Question Number : 59 Question Id : 92090629006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the case of symmetrical distribution.

1. Mean < Median

2. Mean = Median

3. Mean = Mode

4, Medium < Mode
Options :
920906114633. 1

920906114634. 2
920906114635. 3



920906114636. 4

Question Number : 59 Question Id : 92090629006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 fqaRur & dey &
1. HIH < HIEIH]
2. H1e = HIfeda]

3. 919 > gD
4, 19 < §g0D

Options :

920906114633. 1
920906114634. 2
920906114635. 3
920906114636. 4

Question Number : 60 Question Id : 92090629007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Under Labour Reforms. 29 Central Labour Laws were amalgamated. rationalised
and simplified mto

1. Three Labour Codes
2. Four Labour Codes
3. Five Labour Codes

4. Six Labour Codes
Options :
920906114637. 1
920906114638. 2
920906114639. 3
920906114640. 4

Question Number : 60 Question Id : 92090629007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o YUR/GAFHHI & ded. 20 Daid Y5 BIAI/aH] B SIsHR, THIdd HIb
WA ST

1. A YA DI
2. IR HH IS
3. 049 Y7 DIS
4.5 YA DS

Options :

920906114637. 1
920906114638. 2
920906114639. 3
920906114640. 4

Question Number : 61 Question Id : 92090629008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A [Mean [. |To observe the vanation in the data
B. Median II. [Find the average of homogenous data
C. Mode III. |[Find the contral value of the data.
b EGaiand Geviatisal i To understand the central idea and

frequently occurring value

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV

| ]

AL B-IIIL C-IV, D-I
3. A-IL, B-IV. C-III, D-I

4. A-I1. B-1. C-11II. D-IV
Options :
920906114641. 1
920906114642. 2
920906114643. 3
920906114644. 4



Question Number : 61 Question Id : 92090629008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore

T 1 T
EIEa NEEEICEEGIEIGE
EIEIEA] I1. [Tt 221 &1 AiYd -1

ERSEZ 111 [[OR1 B4 UR =21 &l paid Jod o =41
OH® f[daad | v [dhag Y gyl gR-aR g4 ard sid sl & asH]

fgfafad fawedl § O gal 3d &1 994 Difelu

1. A-I. B-II. C-III. D-IV

ola[w]>

2. A-II. B-III. C-IV. D-I

- A-IL B-IV. C-II1. D-I

L]

4. A-II. B-1. C-III. D-IV
Options :
920906114641. 1
920906114642. 2
920906114643. 3
920906114644. 4

Question Number : 62 Question Id : 92090629009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: There is a need to control the inerease in prices of food articles such
as cereals. fruits and vegetables, etc.

Reason R: Recent price trends indicate that inflation of food articles 1s higher than
overall rate of inflation in the Wholesale Price Index (WPI)

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A 1s not correct but R is correct
Options :
920906114645. 1
920906114646. 2
920906114647. 3
920906114648. 4

Question Number : 62 Question Id : 92090629009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

HFHYT A: G IAE] o TS, Bd a1 Tfesrdl & dgd gl &f Hafad
B DI AUAWHA B

BRI R: B Sis] & STUR Wie Idlal § Heg &3 Ui [ay gl @l
HETTS aX I SIS €|

SIRIdd DY D 3HTadid H, 114 [SU fabcal § 9 9ad Iugad 9o &l 9

1. A SRR G U8l € IR R. A D ol ARAT &

. A 3R R S el 8. e R. A B Wel ARAT 181 &
ATSI g AFIR IR TR §

4. AHEI oI S AT R TG &

Options :

920906114645. 1
920906114646. 2
920906114647. 3
920906114648. 4

| )

L}

Question Number : 63 Question Id : 92090629010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The European Union has developed a whole panoply of European Institutions.
among these are:

A. The Commission, the Couneil

B. The parliament. the Court of Justice

C. The European Court of Human Rights

D. Members of the European Political Parties
E. Social Democrats

Choose the correct answer from the options given below:

1. AADand E

|

.A. B and C only
3.B,Cand D

4.C.Dand E
Options :
920906114649. 1
920906114650. 2
920906114651. 3
920906114652. 4

Question Number : 63 Question Id : 92090629010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIMGH gAg A QRIMUTE S &1 U6 $ad [dDhid [$a15. 95 -

A T HHTA, § PR

B. T UIfeiamie, 3 I 3 oy

C. & IRIUTA BIE 3% §T A5cH

D. T 3 § PRI uliafc s urdfsl
E. YA SHIhCH

- f&u e fasedi o ¥ 98t SR 2o -
1.A.D 3R E
2. PAA A, BIHR C
3. Hdd B, C AU D
4.%dd C.D 3R E




Options :

920906114649. 1
920906114650. 2
920906114651. 3
920906114652. 4

Question Number : 64 Question Id : 92090629011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Among the following measurement of Variation which is free from unit of
measurement.

1. Standard deviation

| ]

. Coefficient of variation
3. Mean deviation

4. Quartile deviation
Options :
920906114653. 1
920906114654. 2
920906114655. 3
920906114656. 4

Question Number : 64 Question Id : 92090629011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & 70 & 9, S -9 A ety g
1. O fa=e
PR CERUEIYIED
3. T1e T
4. I faaa

Options :

920906114653. 1
920906114654. 2
920906114655. 3
920906114656. 4



Question Number : 65 Question Id : 92090629012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When null hypothesis 1s true but we reject it and accept alternative hypothesis
under the concept of significance of tests in statistics 1s known as:

1. Type II error

| ]

. Type I error

L]

. Type IV error

4. Type III error
Options :
920906114657. 1
920906114658. 2
920906114659. 3
920906114660. 4

Question Number : 65 Question Id : 92090629012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ifeae! 1 G180 & Hed & YRGBT 5, o 89 7d eRudiR S TeR S
U4 dofeud gRuifify & WieR &I dl 39 Fed & -

1. TIgU I A
2. C913fe

3. CUIV Ife
4. U A

Options :

920906114657. 1
920906114658. 2
920906114659. 3
920906114660. 4

Question Number : 66 Question Id : 92090629013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: Trade unions negotiate for their members on pay, working conditions
and job security

Reason: Barriers to the entry and exit of workers may reduce firms flexibility to
adapt to changing market comditions

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
920906114661. 1
920906114662. 2
920906114663. 3
920906114664. 4

Question Number : 66 Question Id : 92090629013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

HTHHYT A: 9T HIS 30U Wi ¥ 301 TaHIgD Y&, WY qUT
T 3 ol @ 396 Yl W Siddid $3d o

PHRUIR: BRI & 3 TUT 914 IR Ufdds. B & W0 & dead aloilk W&y
& 3IPd B 9 Al g

SWRIFd PYA & 3Maie U, H1d [4U fabeul ¥ 9 gad Uy 3R &l 994

DIfoTT
1.ARRGHI T8I AR R. A DI Jol ARAT &

2. A IR R EHI Tol 5. AfdT R. A T el IR el &
3. AR AP R GE IS @
4L AT TRIE AT R TSI ©

Options :

920906114661. 1
920906114662. 2
920906114663. 3
920906114664. 4

Question Number : 67 Question Id : 92090629014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who 15 author of the book Pedagogy of the Oppressed’ (1972).

1. David Hargreaves

[

. Paul Willis
3. Paulo Frire

4. Coin Lacey
Options :
920906114665. 1
920906114666. 2
920906114667. 3
920906114668. 4

Question Number : 67 Question Id : 92090629014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

"USHIST ST &1 SHUES" (1972) fvdTa fads gRIRA 82

Ty h

1. SfdS gRUH
2. did faferg

3. OTell W

4. Plgadd
Options :
920906114665. 1
920906114666. 2
920906114667. 3
920906114668. 4

Question Number : 68 Question Id : 92090629015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is not the correct reason for intervention of the government in the
economy”?

1. To prohibit the consumption of merit goods

[ ]

. To improve economic efficiency

%)

. To pursue the social values

4. To prohibit the consumption of bad goods
Options :
920906114669. 1
920906114670. 2
920906114671. 3
920906114672. 4

Question Number : 68 Question Id : 92090629015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HiHaR T TRPR & T4 D] DIH-Hl HRUI Ug! 761 67
1. 3=y FAIGI P FUHFT BI ABHT
2. 3{Tfde IUTEar § YR
3. et TSI ARl Bl UM b fa=nm 7 v &=
4. §X IATE] D FYHIT B U

Options :

920906114669. 1
920906114670. 2
920906114671. 3
920906114672. 4

Question Number : 69 Question Id : 92090629016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following forms of authority has not been conceptualised by Max
Weber?

1. Charismatic

[

. Rational-legal
3. Traditional

4. Dictatorial
Options :
920906114673. 1
920906114674. 2
920906114675. 3
920906114676. 4

Question Number : 69 Question Id : 92090629016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 9 oF Y UlIeR & IR & 6T 599 daR gRI Tal &f 7Ts 82
1. TP RSP
2. qepETa-fafere
3. WP

4, AHEIRIRT
Options :
920906114673. 1
920906114674. 2
920906114675. 3
920906114676. 4

Question Number : 70 Question Id : 92090629017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Infant Mortality rate (per 1000 live births) in 2020 in India 1s:

1.33

[ ]

. 18
3. 45

4. 28
Options :
920906114677. 1
920906114678. 2
920906114679. 3
920906114680. 4

Question Number : 70 Question Id : 92090629017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRd H 2020 H RIY Jg <X (AP 1000 oiifdd =1f 0R) -

1.33

[

. 18

T
=
L

4. 28
Options :
920906114677. 1
920906114678. 2
920906114679. 3
920906114680. 4

Question Number : 71 Question Id : 92090629018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is /are correct?

A. All-India Trade Union Congress-CPI

B. Indian National Trade Union Congress-Congress Party
C. Hind Mazdoor Sabha-Praja Socialist Party

D. Bhartiya Mazdoor Sangh (BMS)- BIP

E. Bhantiya Mazdoor sangh-CPM

Choose the correct answer from the options given below:

l.Dand E

-2

.B.DandE
3.AB.CandD

4. A.Dand E
Options :
920906114681. 1
920906114682. 2
920906114683. 3
920906114684. 4

Question Number : 71 Question Id : 92090629018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & 9 o T ug 82

A. fEd YR SR W16 S - It i omg
B. YR AP SR TS BIOY - HIUF Urel
C. fg=2 OoigR 91 - wor greifee grdt

D. YRdIF Toig 99 (&l UH. T4.) - & o df

E. YRdIg Aoigy 99 -4i.41.ug

-1 fau e faeedl & 9 9t SR i
1.D 3R E

. $ad BD 3RE

3.%4dd A.B.C 3RD

4.%dd A.D3IRE

Options :

920906114681. 1
920906114682. 2
920906114683. 3
920906114684. 4

[ )

Question Number : 72 Question Id : 92090629019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not an item of social security of labour?

1. Wage
2. Maternity benefits
3. Pensions

4. Compensation for industrial injury
Options :
920906114685. 1
920906114686. 2
920906114687. 3
920906114688. 4

Question Number : 72 Question Id : 92090629019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

5 & A 1 o amifore JReT 51 U favg T8l 82
1. daA

2. ATgd A1
3. 49
4. 3T ®IE R gs &fd &1 gfd

Options :

920906114685. 1
920906114686. 2
920906114687. 3
920906114688. 4

Question Number : 73 Question Id : 92090629020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements about development is not correct:

1. Human Development Index (HDI) recognizes that human development
depends upon resources. knowledge and health. and therefore combines
indicators of these key aspects

|

. HDI 1s a composite indicators of the level of country's development. varying
between 0 and 1

3. GDP may neglect important aspects of the quality of life

4. Per capita GDP in nominal price is the only indicator of development
Options :
920906114689. 1
920906114690. 2
920906114691. 3
920906114692. 4

Question Number : 73 Question Id : 92090629020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g ¥ T oH-91 9edo [de & ey ¥ g8t Tei 22

1. T4 {9 Yadhis & HTHR U-a fdbrd a1y, I Ul Wed 1)
1R € o1d: 98 He@yUl g3l & Thdd! S Ssdi gl

2. A4 4P YaPiP UD ¥ & b TR Gl db 0 TUT19 & Sicrid &, Bl
U% Y Jha® g

3. il @t Ui, Sffa TurasT & Hgdqul 9&f &l THR el o
4. FHHE Oed ¥ | Biver o i Ui, [de™ &1 thdial Shab 5|

Options :

920906114689. 1
920906114690. 2
920906114691. 3
920906114692. 4

Question Number : 74 Question Id : 92090629021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements; one 1s labelled as Assertion A and the other
labelled as Reason R

Assertion A: Caste inequality is a separate question from gender inequality. In
most cases women as a whole are diseriminated against. and are economically
marginalized

Reason R: Gender and caste. along with the economic status are the three
intersecting aspects that puts women in our society at the lowest peddle of
socioeconomic disadvantage. Caste plays an extremely important role in it, as in
the lower caste women are the most marginalized among the women in India.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A 1s not correct but R 1s correct
Options :
920906114693. 1
920906114694. 2
920906114695. 3
920906114696. 4

Question Number : 74 Question Id : 92090629021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

YT A ST L. o sraaHar € 39 Uy 81 Saigrar geAnsi &
gigarsii ¥ guid: YeuTa fovar Srar § aul dfgan siide &9 3 gk iR g
DR R: 3 TR & Jry-gry & gur wifd o 08 ufo=se & foid R
Afgan gaR ga 5 gmfe snfife &0 9§ Fydy gheE w81 o1fd &1
SO AUl g . YR § =l oifa § afgemn ged sife iy w § ]

SWRIF PYF & WD H, A ey fdeedl # F 9a8 Iugad IR &1 99

A SRR T 6 € AR R AP FE! AR &
ARREH TE § AP R A T TSl IR TRl ©
AT AGTR T TR ®

4. AT TSl AT R TET §

Options :

920906114693. 1
920906114694. 2
920906114695. 3
920906114696. 4

—

[ ]

L]

Question Number : 75 Question Id : 92090629022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Asian Trade Union College. to train educated young men particularly from the
working classes in trade unionism has been established in which place(s)?

A. Dellu

B. Kanpur

C. Calcuta (Kolkata)
D. Jaipur

Choose the correct answer from the options given below:

l.Aand B

| ]

.Band C
3.C

4.D
Options :
920906114697. 1
920906114698. 2
920906114699. 3
920906114700. 4

Question Number : 75 Question Id : 92090629022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR TG & dgd. GRIAR TR 1B UL a1 & Ue-ford garsdl &1 uiRiamr
37 % fo U 2s gfme STas &) el Y T T 82

A, foet

B. ®MQR
C. BIAPIAl (hab)

D. SR

=< f&u e fasedl O § 98! SR Aol
1.ASR B

BaRC

3:C

| ]

4.D
Options :
920906114697. 1



920906114698. 2
920906114699. 3
920906114700. 4

Question Number : 76 Question Id : 92090629023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What are the major spectrums of labelling theory?

A. Nature, causes and impacts of deviant labels

B. Deviance and conformity. social responses

C. Upward or downward social mobility

D. Ways in which different forms of inequality and division interact with
each other

E. Disadvantaged sections of labour

Choose the correct answer from the options given below:

1.Dand B

|

.Cand E
3.Aand B

4.Band E
Options :
920906114701. 1
920906114702. 2
920906114703. 3
920906114704. 4

Question Number : 76 Question Id : 92090629023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dafeRT Risid o1 ge uidfed o g2

A. UPpid., fauymedi ugt & SR qur gH1a 9

B. fa=re qur er72ddr. grieie widfharng

C. IUNHET yal JE! JraTisie TiaRiied

D. SFHF 3R G & fafie Ul & RIR a1 3 & daild
E. 49 &1 df=rd HFT

-1 fau e faeedl & 9 9t SR i
1.D 3R B
2.C 3RE

ASIRB

4.B 3R E

Options :

920906114701. 1
920906114702. 2
920906114703. 3
920906114704. 4

L}

Question Number : 77 Question Id : 92090629024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who wrote the book titled 'The German 1deology'?

1. Friedrich Engels and Karl Marx
2. Max Muller
3. Ludwig Feuerbach

4. Rosa Luxemburg
Options :
920906114705. 1
920906114706. 2
920906114707. 3
920906114708. 4

Question Number : 77 Question Id : 92090629024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g oA i siTart <ie A fdde & s HiF 82
1. PSS IRep Usied Ul STe JTeR

2. R TR

3. ISaT WReD
4. ST Ao

Options :

920906114705. 1
920906114706. 2
920906114707. 3
920906114708. 4

Question Number : 78 Question Id : 92090629025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following is not a measurement of central tendency.

1. Arithmetic mean

| ]

. Mode
3. Moments

4, Median
Options :
920906114709. 1
920906114710. 2
920906114711. 3
920906114712. 4

Question Number : 78 Question Id : 92090629025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{5 7 O &1 Dot ugfd o1 oy e 82
1. 3BITOC T Are

2. 95D
3. AEd
4, TP

Options :

920906114709. 1
920906114710. 2
920906114711. 3
920906114712. 4

Question Number : 79 Question Id : 92090629026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The statements."Supply creates its own demand".is given by.

1. J. B. Say
2. Harrod
3. Keynes

4, Lewis
Options :
920906114713. 1
920906114714. 2
920906114715. 3
920906114716. 4

Question Number : 79 Question Id : 92090629026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S, M @ o @ o 3t B, frga faan @ -
Lo
2. 308
3. fog

4. =9
Options :
920906114713. 1
920906114714. 2
920906114715. 3
920906114716. 4

Question Number : 80 Question Id : 92090629027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following film was made by Willian Friedkin on drug trafficking

1. The French connection (1971)

2. Quatre Cents Coups (1959)

%)

. Low order (1969)

4. Twelve Angry man (1957)
Options :
920906114717. 1
920906114718. 2
920906114719. 3
920906114720. 4

Question Number : 80 Question Id : 92090629027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o & O oH-11 e fafean wissien grr fAfia g ¢fhfdr @ snufika g2
1. g Thd S99 (1971)
2. B Y™ $H(1959)
3. 91 378X (1969)
4. ¢od Ul B (1957)

Options :

920906114717. 1
920906114718. 2
920906114719. 3
920906114720. 4

Question Number : 81 Question Id : 92090629028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Root mean square deviation 1s Popularly known as:

1. Standard Deviation

| ]

. Quartle Deviation

Tl

. Coefficient of variation.

4. Variance
Options :
920906114721. 1
920906114722. 2
920906114723. 3
920906114724. 4

Question Number : 81 Question Id : 92090629028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ad AT aFl faga- deardl 82
1. AFS fa=e
2. IqU fageH
3. fa=Ru Ui

4, T
Options :
920906114721. 1
920906114722. 2
920906114723. 3
920906114724. 4

Question Number : 82 Question Id : 92090629029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An example of negative tax:

1. Subsidies

| B

.GS.T.

el

. Penalties and Fees

4. User charges for Government utilities
Options :
920906114725. 1
920906114726. 2
920906114727. 3
920906114728. 4

Question Number : 82 Question Id : 92090629029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TPRIAD DI BT IS0 &:

1. 3T g

2. SI.ug el

3. 9 IR B

4, BRI a1l & e Yidr

Options :

920906114725. 1
920906114726. 2
920906114727. 3
920906114728. 4

Question Number : 83 Question Id : 92090629030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the fallowing 1s not current labour laws act of Inda.

1. The Minimum Wage Act 1948
2. The contract labour Act, 1970
3. Social Security code 2020

4. The Industrial Dispute Act 1947
Options :
920906114729. 1
920906114730. 2
920906114731. 3
920906114732. 4

Question Number : 83 Question Id : 92090629030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ o I -1 STy gduH 40 Al & Sidiid 51 3D
1. GaH da- AfagH. 1048
2. 3EY YT T, 1970
3. FHTRSTS YR HiedT. 2020
4. 3P Bag Ugd, 1947

Options :

920906114729. 1
920906114730. 2
920906114731. 3
920906114732. 4

Question Number : 84 Question Id : 92090629031 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under PMSSY, 22 new All India Institutes for Medical Science (AIIMS) were
built. Three of the cities given below have these new ATTMS.

A. Bhopal

B. Raipur
C. Patna
D. Etawa
E. Kurnool

Choose the correct answer from the options given below:
1.C, D, E only
2. A, B. C only
3.B.C.D only

4.B.D.E only
Options :
920906114733. 1
920906114734. 2
920906114735. 3
920906114736. 4

Question Number : 84 Question Id : 92090629031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

4 U0 T U 915 & 3iavid 22 70 e YRy i 9= s9e ) -
ferm i fFg A T 9 70 anvs 82

A, HIOTA

B. AR
C. Y-l
D. gcldl
E. 3

- feu e fdwenl & 9 Fel ST <o -
1.9du C, D, E

. PAU A, B, C

.®quB,C,D

4. HAU B, D, E

Options :

920906114733. 1
920906114734. 2
920906114735. 3
920906114736. 4

| ]

L]

Question Number : 85 Question Id : 92090629032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a terminology used by Max Weber for understanding
social realities?

1. Verstehen

| o]

. Ideal Type
3. Social Construction

4. Value Orientation
Options :
920906114737. 1
920906114738. 2
920906114739. 3



920906114740. 4

Question Number : 85 Question Id : 92090629032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁ@wﬁwﬁmﬂmmaﬁ%ﬁﬁmﬁﬁ%mﬁﬁﬁ

1. REE

2. 3TERI UPR

3. groTioe Ao
4, Oeq fufgarg

Options :

920906114737. 1
920906114738. 2
920906114739. 3
920906114740. 4

Question Number : 86 Question Id : 92090629033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which vear is set as the target for achieving Sustainable Development Goals
(SDG)?

1. 2030

|

. 2040
3. 2025

4. 2035
Options :
920906114741. 1
920906114742. 2
920906114743. 3
920906114744. 4

Question Number : 86 Question Id : 92090629033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TyRuity faera dedi & o sF-aray sy fesar mr g2

1. 2030

| R

. 2040
3. 2025

4, 2035
Options :
920906114741. 1
920906114742. 2
920906114743. 3
920906114744. 4

Question Number : 87 Question Id : 92090629034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Food production in India in the year 2021-22 was:

1. 288 million tonnes

| ]

. 315 million tonnes

L]

. 364 million tonnes

4. 242 million tonnes
Options :
920906114745. 1
920906114746. 2
920906114747. 3
920906114748. 4

Question Number : 87 Question Id : 92090629034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy 2021-22 H YRd & @I 3@1EA -
1. 288 faferg o4

315 [Hferm e

3. 364 fiferg e

4. 242 ffeg &4

Options :

920906114745. 1
920906114746. 2
920906114747. 3
920906114748. 4

[ ]

Question Number : 88 Question Id : 92090629035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LISTI LISTII
A |Birth rate [. |The average no of births per women
The no of live births per thousand of
population in a vear
The no of children that the average women
must have to maintain a stable population
Fate of change in the size of a country's
[population

B. [Fertility rate II.

C. [Replacement Fertility rate| IT1

D. [Population Growth IV.

Choose the correct answer from the options given below:

1. A-I1. B-1. C-III. D-IV

| ]

CA-L B-ILL CA-TILL D-IV
3. A-L. B-II. C-IV, D-III

4. A-II. B-III. C-I. D-IV
Options :
920906114749. 1
920906114750. 2
920906114751. 3
920906114752. 4



Question Number : 88 Question Id : 92090629035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore
T I
A [FEHE 1 [fd Aiga IR o= @l T
B. [ &R 1L [0fd §9IR 41 U Siifdd d=di &l T
¢ PR | R S8 H1Y 94914 394 & [0 U Si8d Hiedl & awi
B (5 [o gEm
D. [oee gls IV. [6=1 1 oI H uRad
fgfilad famedl § ¥ Tel 3 &1 994 Sifelt

1. A-I1. B-1. C-III., D-IV

| ]

AL B-I1, C-IILL D-IV
3. A-L. B-11. C-IV, D-III

4, A-II. B-III. C-I. D-IV
Options :
920906114749. 1
920906114750. 2
920906114751. 3
920906114752. 4

Question Number : 89 Question Id : 92090629036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In calculating HDI. the weightage of three dimensions - health. education. and
standard of living. are:

111
37373

|

[ ]

| b2 "-"*Ll_
A | — ¥:|*~
|t o

|

4.

| e
Lad |
LA

Options :

920906114753. 1
920906114754. 2
920906114755. 3
920906114756. 4

Question Number : 89 Question Id : 92090629036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U9 SI TS (HDI) & IREGE- H. a1 AT - Tared. FRra1 dur 389-98- %1
DPIURIP o -

111
| R
3 3 2
9 e k3
3412
2
g 252
555
4311
3315
Options :

920906114753. 1
920906114754. 2
920906114755. 3
920906114756. 4



Question Number : 90 Question Id : 92090629037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s the better measure of welfare.

1. National income

| ]

. Per Capita income

L

. Per Capita Digposable income

4. Gross National Product
Options :
920906114757. 1
920906114758. 2
920906114759. 3
920906114760. 4

Question Number : 90 Question Id : 92090629037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[T Ud SHedTU] ol dgdr JHMHEl 1 87

4. A AP G
Options :
920906114757. 1
920906114758. 2
920906114759. 3
920906114760. 4

Question Number : 91 Question Id : 92090629038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ministry of Labour and Employment (MOLE) has developed e-shram portal for
creating a National database of.....

1. Organised sector workers
2. Unorgamised workers
3. Agriculture workers

4. Unorganised women workers
Options :
920906114761. 1
920906114762. 2
920906114763. 3
920906114764. 4

Question Number : 91 Question Id : 92090629038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T qUT IASHTR A0 & g1 faefid 5-949 Uicd & foru g T
LEEEEN

1. Fufed &7 PR

2. 3Ufed PR

3. DY HIIR

4, 3r5gfed Higdl SR

Options :

920906114761. 1
920906114762. 2
920906114763. 3
920906114764. 4

Question Number : 92 Question Id : 92090629039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
|credit Rating agency | Head Quarter
A |CRISIL I. Mumbai
B. MOODY'S II. [New York
C. |ICARE III. PMumbai
D. [CRA IV. |Gurgaon

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| ]

. A-L. B-IIL. C-II. D-IV
3. A-II. B-III. C-I. D-IV

4. A-II. B-1. C-III. D-IV
Options :
920906114765. 1
920906114766. 2
920906114767. 3
920906114768. 4

Question Number : 92 Question Id : 92090629039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I(3Fiee Y1 Tsid) LIST II(HETEA)
A [iopfaa I [Has
B [g3Iqg 1. [=gio
C. [pmR 111 [Hag
D |smEdEiamTE V. [I5ia
1 fqu T fas eyl § T gel 3wk difor

1. A-I. B-II. C-III. D-IV
2. A-L. B-1II, C-II. D-IV
3. A-IL. B-III. C-1. D-IV

4, A-IL. B-1. C-III. D-IV
Options :



920906114765. 1
920906114766. 2
920906114767. 3
920906114768. 4

Question Number : 93 Question Id : 92090629040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Pluralist theory suggests that power in society 1s undistributive
Statement IT: Social movements are non-collective actions

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ 15 correct but Statement I incorrect

4. Statement I 1s incorroct but Statement II correct
Options :
920906114769. 1
920906114770. 2
920906114771. 3
920906114772. 4

Question Number : 93 Question Id : 92090629040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 G P R T §
BY I: ggaarare [RGid A1 © fo gars 3 Tl sfaue-a g
DY II: 1D G SReD B B

e U & eI H, i 34U U fas el O 9 9a9 Iug 3k &1 994
DI

1. PYT1 AR 11 gH T8l §
HYF 1R 11 SH Tad §
DY 1 T8 B, Aftp HYF 11 7Tad ©

4. BYF 17T, AfpT HYT 1 T3 &
Options :
920906114769. 1
920906114770. 2
920906114771.3
920906114772. 4

| ]

L)

Question Number : 94 Question Id : 92090629041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[National Income Estimation| 1. |Shramev Jayate
[ abour Reforms (2014) II. |Central Statistical organisation
Poverty and un-British Rulg| ITI. [Dadabhai Naoroji
Milk Revolution IV |V. Kurien

ofafw[>

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II. D-I

| ]

CA-IL B-IL G-I D-IV
3. A-L. B-1I. C-III. D-IV

4. A-II. B-III. C-I. D-IV
Options :
920906114773. 1
920906114774. 2
920906114775. 3



920906114776. 4

Question Number : 94 Question Id : 92090629041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 11 g1 11 H i Sife

T I T
A [P omg e | L |yHd wad
B. |5/ 9 (2014) 1L [ha g Gifea®] TusH
C. [Ris 3 TR fafewr 9] 111 [gTerE A3
D. g pifd IV. [al. DRaT
fafdiRad famedi § U UEl IR &1 904 $IfoU

1. A-IV, B-III. C-II. D-I

2. A-1L B-1L. C-III. D-IV

. A-L. B-II. C-III. D-IV

L]

4. A-II. B-III. C-1. D-IV
Options :
920906114773. 1
920906114774. 2
920906114775. 3
920906114776. 4

Question Number : 95 Question Id : 92090629042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Average product of Labour I. |Mehboob-Tl-hag
B. [Human development Index (HDIY II. |[Lewis model
C. [Unbalanced growth III. |[Ninth five year plan|
D. [Eemoval of poverty IV JA.O. Hirschman

Choose the correct answer from the options given below:
1. A-L. B-II. C-IIL. D-IV
2. A-IL. B-1. C-IV. D-III
3. A-IV. B-IIL. C-I1. D-I

4. A-III. B-I. C-II. D-IV
Options :
920906114777. 1
920906114778. 2
920906114779. 3
920906114780. 4

Question Number : 95 Question Id : 92090629042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 11 g1 11§ e ifor

A I T
A ym g gad | I [9Ed9-3d-8@
B. [AH4 [9e™ gaoia | 1L [qey9 Aisd
c |emdfaafamm | |odf u= adifg gemn
D. [l garsit V. [u 3ff fBema
Fafafad fasedl o 9 |8t 3R &1 997 SIS :

1. A-I. B-II. C-III. D-IV
2. A-II. B-1. C-IV, D-III
3. A-IV. B-III. C-II. D-I
4. A-III. B-1. C-1I. D-IV

Options :
920906114777. 1



920906114778. 2
920906114779. 3
920906114780. 4

Question Number : 96 Question Id : 92090629043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other
labelled as Reason R

Assertion A: Increase in private consumption and capital formation has led to
India's economic growth in recent years

Reason R: Demand side factors are crucial for economic growth in the short run.

In the light of the above statements. choose the most appropriate answer from the
options given below:

1. Both A and R are correct and R is the correct explanation of A

-2

. Both A and R are correct and R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A 1s not correct but R is correct
Options :
920906114781. 1
920906114782. 2
920906114783. 3
920906114784. 4

Question Number : 96 Question Id : 92090629043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & $U H:

Y= A: doill A1 quT el @ud 3 9iS. 3 81d 61 & 9al § URd 3t
e gfs § g [Par g1

DRUIR: iedraiy H afdfe g & fow 41 yef R He@yvi & |
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A 3R R G U6l § IR R. A D gl ARHAT S

A 3R R G U8l §. Wl R. A B Tel TRAT 81 &
AT IFIR TGS

4. ARl TR g afdT R WET §

Options :

920906114781. 1
920906114782. 2
920906114783. 3
920906114784. 4

—

| ]

L]

Question Number : 97 Question Id : 92090629044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following authors wrote Riddles in Hinduism'?

1. B. R. Ambedkar

|

.M. K. Gandhi
3. Jyotirao Phule

4. Pertyar
Options :
920906114785. 1
920906114786. 2
920906114787. 3
920906114788. 4

Question Number : 97 Question Id : 92090629044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906114785. 1
920906114786. 2
920906114787. 3
920906114788. 4

Question Number : 98 Question Id : 92090629045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s true?

1. Growth is inclusive when it causes high level of consumption
2. The urban unemployment rate in 2022-23 was 15 percent

3. RBI has projected inflation at 2.5% in FY2023-24

4. Growth 1s mnclusive when it creates jobs
Options :
920906114789. 1
920906114790. 2
920906114791. 3
920906114792. 4

Question Number : 98 Question Id : 92090629045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FaddoR-aroyT9de?
1. Fqf GATGL § Wd 98 I Wi WO d Sl B |
2.2022-23 H 83 aRIOHTRT 8 15% ot

3. ﬁ?ﬁﬂaﬁgma-yﬁ AR &t 3T (MR<TE Reid §%) gR1 A 7S
X 25% 2l

4. Yglg FHa § 99 a8 AR S@d Bl ¢ |
Options :
920906114789. 1
920906114790. 2
920906114791. 3
920906114792. 4

Question Number : 99 Question Id : 92090629046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Felman and Subramain (2020), the reason of slow-down in growth in
India in 2018-2019 was.

1. International oil price shock

| ]

. Four sector balance sheet crisis
3. Two sector balance sheet crisis

4. International supply chain disruption
Options :
920906114793. 1
920906114794. 2
920906114795. 3
920906114796. 4

Question Number : 99 Question Id : 92090629046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



thad qUT JaREH (2020) B SR, 2018-2010 § YRA H TafG D Sl oI
BRU -

1. S{CRIPIY o Heg ST

2. IR &7 g0 giie gdhe

3. 3l &1 90 e e

4. SFRIPT SMYfd g sgae

Options :

920906114793. 1
920906114794. 2
920906114795. 3
920906114796. 4

Question Number : 100 Question Id : 92090629047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Poverty line and Poverty Gap I. IP.D. O4ha
B s caRask saveniy I Stum_:l“_r b“i Gaurav Dutt and Martin
Favallion
C. [Incidence of Poverty 1n India III. [Study by P. K. Bardhan
[Number of persons below poverty line
D. fon IV, |Study by Minhas and others
[the basis of average calorie mtake

Choose the correct answer from the options given below:
1. A-II. B-IV. C-I, D-III
2. A-IL. B-III. C-IV. D-I
3. A-I. B-IL. C-IV. D-III

4. A-II. B-1. C-III. D-IV
Options :
920906114797. 1
920906114798. 2
920906114799. 3
920906114800. 4



Question Number : 100 Question Id : 92090629047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. %ﬂi%mgm‘}”wmmwg IV, (98T Ug 3= g 3{g-
Fgfalad faeedl § ¥ gal 3d3 &1 994 HifeT

1. A-II. B-IV. C-I. D-III
2. A-II. B-III. C-IV. D-I
3. A-L B-II. C-IV, D-III

4. A-II, B-1. C-III. D-IV
Options :
920906114797. 1
920906114798. 2
920906114799. 3
920906114800. 4



